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Concepls students should know before entering 6™ Grade',

Students should be advanced at these concepts:

Ulrecilons: Complate the following problems. NO CALCLLATORT

ge | %2 ~ hoyTo

N3 6)42° 24

N4 270 WA,




Long Division

Directions: Complete the following problems. NO CALCULATOR! SHOW ALL WORKI!

5J3 005 3J/1530 .12}'"§j§§6
-30
09
-5
45
<45
0
4, 5 6.
9)4 581 - 7]5.425 8]7 424
7. 8. | Q.
32 424 11]Z2 288 6]5,442
10. 11. i2. |
8)5,656 3J1560 413204




Order of Operation

Directions: Simplify the following. Remember your PEMDAS rules!

“You ¢an remember the order by saying :

PEMDAS Rules
o _Please Excuse My Dear Aunt Sally
Evaluate the problem in the following order: ? ; r v d E
s o t 0P it
1) P .- Parentheses . 2 L . f ;
L h n I o o c
2} E - Exponents {Powers and Square Roots ) e t i n o
3) MD ~ Multiplication and Division (Left to Right) e 2 o
4) AS - Addition and Subtraction (Leftto Right) !
13 %13~ 4 +10 1. 18-11+19x3
7
g—=4+10
g
HeB £ 10
(ia
% 24+8x11+3 3 24+11x17-12
4 9+ax12+15 5 16x3-2+3
6. 7 - .
16+9—-10+ 5 16+ 2+19-10




Directions: Simplify the following. Remember your PEMDAS rules!

72(6 X 10+ 4)~ 7 1L (8+23-3)+(13~6)
i
Tyl 5&;{«4«%}“’7
Ty B 7
w
578 -7

2, (15-3)x(10+3)—4 3. (16+4)+(11+15+5)

4. (14 +29~3)+20—2 5. (15+18—3) + (15 x 2)

6. B+4)+(10+14+7) 7. (12+22-2)+16~2




Coordinate System

Directions: Write the point that is located at each ordered pair. é,/;é J%)
LD
y w
1} (6,2) (2 2) (6,8) A
10 ‘
g W
3) (10,1) 4) (4,5) . ir
7 X G 5
5) (9,7) 6) (2,3) T
3 E
4 : 1
7y (1,6) 8 (57) 3 ' %
2 o
1 - _ E
9 {2.1) 10) (7,4) |
1A ) R S N AR T T
Directions: Write the ordered pair for each point.
y
A N1l , 3 12) X {oe )
10 : ~
? M
8 - 13) B (o 4 o) 14) L (o o)
7 : e
6 H . :
P ¥ (14 E—— TN (U—
5 | 13 v
4 j '
3 N 17) Dl ) T8 M (s e}
: T8
1 . ?(
. e 19) J (e 1 ) 20) H (e 4 o)




Adding & Subtracting Decimals

Directions: Solue the following. DO NOT USE A CALCULATOR!!

Add bm:muls Exumpiea Subtmcﬁ o TV S ————
Find the value of 3.9 + 2. 4. Find the value of 8.6 ~ 4,55,
 STEPT Rewrite the problem vartzc;alfy 3450 " SYEPY Howrite the pmhfem vertic;a%fy 860
in ordar to align the' decimal + 245 in order to align the decimal - 455
paints in each number. Add pc:mts in sach ﬁumber. Add a
zaro to'3.9 as a placeholder. ) zroto Bhasa placeholder,
STEP 2 Hegin by adding the digits + 390 “sTEP R Bagln by subtracting the 8 %%’
In the hundredths place. + 2.45 digits In the hundredth’ plaze, 4°55
_— . .5 Regroup 1 tenth as 10 hundireds : e
STEP 2 Ackd the diglts in the :15 5h 8o that you can subtract, ,
tanths place. Since + 245 STEP 3 Subteact the digits in the o 8 E}?
? L3 ’4' B 13r r@grﬁup . a5 '! tﬁnthﬂ pf&:‘,@. : 4'55
i0tenths as 1 one, : ! ,".'.“M.,Eg
' STEP A Place the decimal point i ‘
.- R st
in the answer, Add the s 0 STER 4 Place the decimal polnt in Y z,%’
digits In the ones place. 245 tho answer, Subtract the s
. . , ‘ 6,35 digfts In the ones place.  © otk
394245 =635 - c . 408
, B 455 =405
[ \. N W
1. e 2, _ 3.
4.59 + 1,02 9,04 ~ 6.32 5.8+ 0,25
. . . 6.
6537 % 0.4% 861 ° 3.28 = 1.09¢
a7 63~ 299 O 807 +086 9
57+ 4.63 ’ :
10. 7.02 + 7.3 1. 533268 12
7.2 ~ 598 At i




Name : Date

Multiplying and Dividing Decimals

Find the product or quotient. Show ALL work in the space provided or on a separate piece of paper.

1}3.94 0.4 2)0.144 = 12

3)0.587+ 8 4)40.8+2

Read each problem carefully. Show ALL work in the space provided or on a separate piece of paper.

5) A'deli charges $3.45 for a pound of turkey. If Tim wants to purchase 2.4 pounds, how much will it cost?



6) The average mail carrier walks 4.8 kilometers in a workday. How far do most mail carriers walk in a 6-day
week? There are 27 working days in July, so how far will a mail carrier walk in July?

7) Anna is saving $6 a week to buy a computer game that costs $57.12. How many wecks will she have to save
to buy the game?

8) Ben ran a 19.6-mile race last Saturday. His average speed during the race was 7 miles per hour. How long did
it take Ben to finish the race?

. 9) Antonio bought 4.5 pounds of cashews. They cost $1.40 per pound. How much did Antonio pay in total for
the cashews? '



Mixed Numbers & Improper Fractions

Directions: Convert the following improper fractions to mixed numbers. Write your answer on the
line next to each problem.

1) -%xmi o) &= iy fZ=
2 8= |71 &= |12 2.
n = |8 L= 13 F=
- SR OR - S
5) 2= 10) - 1wy EB=

Directions: Convert the following improper fractions fo mixed numbers. Write your answer on the
line next to each problem.

psd=§ | 2k= |wegs
2) 2= 7 S EDL S
nad= | sek= |13 552
CEE S DRI EULE S
5) g%gmm 10) Q%xm 15)2%:%




Directions: Simplify the following fractions.

4 2|2  al_ |l0__ 6 _
6 3|10 28 15 18
4 |16_ 1 __ |6 ___ 12 _
8 20 14 15 20

Adding Fractions & Suke a_c:\-ms F'rad\‘ ong

Directions: Solve the following problems. NO CALCULATOR! Put your answers in simplified form.

4 10 8 , 1 _ 11 | 4 _
1.77'+E-1--- 2.5‘-}'5--- 3.6+9——
12+10__22_

21 21 21 21

6 12 _ 47 _ 8 1z
4t T T 557 1o 6.1 t5 =
10 11 1

73T T T




Adding Fractions % S u.\a'h’ a.c:H 05 FILA-C:I'\‘CJI\ §

Directions: Solve the following. NO CALCULATORS!! Show all work and simplify your answer!

2 8
5 +37= 84

Rewilia az .

Impraoper
fractions

| common
| densminator

3“’:1?’" -f’r-@"%": -

2% 46+ ="

— _ 5
6. -
1 4
1 1 wl a4l
23— 18— =
2 6 2 5

/1



Directions: Solve the following. NO CALCULATORS!! Simplify your answer.

-=_makethewhaee' Coh T malilythe
- top numbets | 2){5 1.9 bottom numbers 3}( 1

numbera R
ffs{‘ctlcn‘ Co {numeraters) o (ﬁaﬁ?m.i?\amfs)
1. 2 — : §. - 2 2 X .gmm
3x &= 4 X{E 19
: 4. 5. 6.
6 X = 2. 5.
1.7 1 8. 0. 4
10. 11. -
3.3 20, 2
S W e el
6772 402
4 ﬁmm 12, ";2”“ ;’6““ 13. ?5*-}(;;% 14.
5.4 15. 15 Qm 16. ,.2“ _ g; 17.
SEXT= 17%% g X1




Multiplying mixed numbers
Grade 5 Fractions Worksheet

Find the product.

b 1gx3%= 2 qix28=
3'2%)(3%: 43%-)(1_1%:
5 3%x3,%= 6f 3%x2%=
/ 1“X3%= 8'118—2x312—0=
o 3%x3%= 10"3%x2%=
11.1%x1_i_= 12'24x1—1%=
EEERPES SEERTER
Online reading & math for K-5 © www.kblearning.com
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Directions: Solve each of the following problems. NO CALCULATORS!! SHOW ALL WORK!

1. Oliver played 2 rounds of a trivia game and
scored 982 points. If he gained the same
number of points each round, how many
points did he score per round?

2. Roger has 365 baseball cards in 5 binders. If
each binder has the same number of cards,
how many cards are in each binder?

3. Chloe had 472 video games. If she placed the
games into 8 different stacks, how many
games would be in each stack?

4. An ice machine had 480 ice cubes in it. If
you were filling up 8 ice chests and each
chest got the same number of cubes, how
many ice cubes would each chest get?

5. Faye is making bead necklaces. She has 606
beads and is making 2 necklaces with each
necklace using the same number of beads.
How many beads will each necklace use?

6. There are 545 students in a school. If the
school has 5 grades and each grade had the
same number of students, how many
students were in each grade?

v



Multiplying Decimals

Rirections: Muitiply the following,

'G:-f:' mﬁx Y ir' m

13 X 100 =30 68 X 100 = mwo X 100 =
100 X 743 ' §468 X 100 = 468 X 100 =
9.1X100 = 3.28X100 * 5095 X 100 =

Directions: Multiply the following.

Yoy '
18 X 1,000 =

Y
21 X 1,000 =

9{(};{; X 1,000 =

274 X 1,000 =

1,000 X 1081 =

274 X 1,000 =

Directions: Complete.

12 = o042 X .10
100

= 0,012 X

360 = 36 X
38 X e

= 030 X

§

i

438 =

< 10
X 100

s 2% 1000

/5



Powers of 10

Find the values of the following powers of 10 (ég. 102 = 100).

a.10% = Jox/0x%10=/000

b. 10° =

c. 106 =

d. 10% =

e. 10" =

f. 107 =

g.10%= _

h. 10° =

i. 108 =

j. 100 = _

Write the following in exponential form (eg. 100 = 10?).

a. 10,000 =

g. 100 =
b. 1,000 = h. 1 x-1o=
c. 10x 10 = . 100,000 =
d. 100 x 100 = . 100x 10 = _
e.1,000000=____ k. 100,000 =
f.1,000 x 1,000 = _ 1.10,000 x 10 =
Go to onlinemathleaming.com for more math resources.



Convert decimals to fractions.

Grade 5 Decimals Worksheet

Convert to fractions.

£3 2

083 = L2 04 =
% 024 = “0.96 =
06 = B 5 0.2 =
" 07 = | | > 0.19 =
° 095 = 01 =
M 023 = - 068 =
13..0.2 — | | 14. 097 =
15. 0_94 _ 16. 0..5 _
Online reading & math for K-5 © www .kblearning.com
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Convert fractions to decimals
(denominators 10 or 100)

Grade 5 Decimals Worksheet

Convert to decimals.

1. 6 2. 41 3. 76
10

i
—
o
S

i
—_—
o
S

I

4. 3 — 5. 36 = 6. T =

10 - 100 10

7. 25 _ 8. 4 9. 54 _

100 10 100

10. 1 _ 11. 37 12. 52 _

10 100 100 —

13. 71 . 14. 21 _ 18. 9 _

100 100 10

16. 79 _ 17. 91 _ 18. 5 _

100 ~— 100 10
Online reading & math. for K-5 © www.k5learning.com
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Concepts students should know before entering 6t Grade

Students should be advanced at these concepts:

Directions: Complete the following problems, NO CALCULATOR!

19 21 11

iy 02 10

“%g -2 =10

- O O

11. 2 | .4.0
12)132 816 280
12y =16 -8y
12 0 00

-~ 192 .Y
0 O

4 7 72
N34 6Y42 D144
=36 =42 14y

0 0 04
=4

O
57 35 17
2114 2J70° 6702

-10V -6y =0
14 10 42

- 14 =10 =42
0




Long Division

Directions: Complete the following problems. NO CALCULATOR! SHOW ALL WORK!!

1. 619 2. osio 3. o503
5)’§’:§*§§ 3 } 1530 12]6,036
.30 =15V =60V
09 °3 3
“.,.% :m%o ““39”6

45 o =5

0

4., o500 B, o775 6. 0928
9)4,581 | ?}5,@25 8}' 7 424
45 =49V mwl

08 52 22

-0 =49 =16

81 35 64

o 0 0

7. o8os 8. o208 Q. coov
3J72 4724 11} 2,288 6 } 5,442
;%A\l/l ;;;%\bl =54

02 08 04

-9 =D =0

24 88 42

=24 -88 ~42

O 0 O

1§, 0707 113 0520 12 0801
8}5;&56 3}1}560 413,204
:ﬁ@«\lfi LLH/J/ =32y

C5 06 00

ol -6 -0

56 00 04
=5.6 =00 =04

o 0 0




Order of Operation

Directions: Simplify the following. Remember your PEMDAS rules!

;;j'_cp, ¢é§n_, remnember the order by sayEr{g :

PEMDAS Rules SR
T - Please Excuse My Dear Aunt Sally
“Evaluate the problem in the foliowing order: ? - E :J :, d b
LT ) 0 £ i t
1) P - Parentheses . 6 p 1 A
ST h n 1 o o ¢
2} E . - Exponents (Powers and Square Roots } e t i n n ot
e s s & c i
3) MD = Multiplication and Division (Left to Right) € :« z
R B
‘4) AS - Addition and Subtraction (Left to Right) : |
n
13x13- 4 +10 18-11+19x3
7 18— 11 +57
14440 7+ 57
NS 64
ey A4 1D

2 J4+8x11+3 C2+11x17-12
Ax1l+3 24187 -12
3343 189 - 12
36 177
4 94ax12+15 " 16x3-2+3
9+ 48 + 15 A8~2+3
57 +15 46 + 3
72 49

6. 16+49-10+5
1649-2
25.2
23

16 +2+19-16
8+19-16
27 - 16
11




Directions: Simplify the following. Remember your PEMDAS rules!

74(8 % 10+ 4)- 7
i e
Tyl 8o-+4d) -7

Mo
Ty By -7

X8 -7

1. (8423-3)+(13-6)
(21-3)+7
28+ 7

4

2. (I5=3x(10+3 -4
12x13-4
156-4
152

3. (16+4+(11+15+5)
20+ (11 +3)
20+ 14
34

4. (14+29-3)+20-2
(43 ~3)+=20~-2
40 4 202
)
0

5. (15+ 18 —3) = (15 x 2)
(33 -3) + 30
30+ 30
1

6. B+4)+(10+14+7)

12 + (10 +2)
12 +12
24

7. (12+22-2)+16-2
{34—-4)+ 162
30+ 16-2
46 -2
44




Coordinate System

Directions: Write the point that is located at each ordered pair.

3) (10,1}

5) (9,7)

7) (1,6)

9 (21)

0

=

o

2) (6,8)

4) (4,5)

6) (2,3)

8 (57)

10} (7.4)

7‘1‘1

y
A

10

R TR

Directions: Write the ordered pair for each point.

¥
A

0

pay BT s

16

'

11) N{. 10, 3 }

13 B( 6

15) Z(. 5

DL 2

19 J( 2

¥

b

]

1

8 .

12)X{. 4,4 .}

MLl 8,5 .}

16) P( 10,6 )

ML 7,9 )

200H. 3.6 )



Adding & Subtracting Decimals

Directions:Solve the following. DO NOT USE A CALCULATOR!!

Extma ) Add Dacimals - ‘ ‘Subtract Detimals
Find the valus of 3.9 + 248, Find the value of 8.6 ~ 4,55,
. STEPY Rewrite the problem vertically 350 " STEPY Rewrlie the problem :.rertir;ally :a.éﬁ
In order 1o align the decimal 4 245 in order to align the declmal -~ 4,55
points in each number, Add a - points In each number. Add a
zaro 10'3.9 as a placeholder zero 1o 8.6 gs a pluceholder,
STER2 Begin by adding the digits 390 ‘$TER2 Begin by subtracting the 8 ;}g
in the hundraciths place, 4 2.45 digits in the hundredths place. 4'55
L 5 Ragroup 1 tenth s 10 hundreds ——~
STEP S Add the digits in the é 9h 56 that you can subtrach,
fenths place. Since 4 248 STEP 3 Subtract the dights In the - .
7+ 4 =13, regroup IR I tenthe place. 8.49
10 tenths as 1 one. . ‘ ' = 455
© BYERA Place the decimal poing é 9 T o
" inthe answer, Add the . 2«45 STER4 Place the decimal point in .
digits i the ones place, ~ ;ha a"““’;‘ Subtractthe 455
: - .t L ights in the lace. R
3.9 4245 = 635 . g e onespace L s
: 8.6 - 4.55 = 4,05
Y - . A, . o
_ 1. e o, 3.
4.59 4 1.02 ‘3‘.‘3& - g, 32 5B+ 026
. 1 ) 810 .
4.59 5.64 5.80
+1.02 =8.32 1.0.20
6.61 2.772 6.06
6537 ° 04% 861 5 3.28 - 1.098 ©
515 i " 1 18
&5 0.40 53.28
-a.77 + 8.61 - 1.0
2.8 0.01 2.19
: ‘ . ) 9.
5.7 4 4.63 63 299 8.07 + 086 )
1 512 10
8.0
5.70 6.85e + 0 8%
+ 51.63 m%" ) MS 93
10.33 3.31
10. * O 4T 11. 5D 12.
72598 7.02 +7.3 5.33 ~ 2.68
' 11 41213
H 1210 7.02 5358
52826 + 7.3G - 2.08
- 5.08 14.32 2.05
1,22




Name JAT ‘“(")S UJJZ‘WS

. Date
Multiplying and Dividing Decimals

Find the product or quotient. Show ALL work in the space provided or on a separate piece of paper.

1)3.94.¢ 0.4 | 2)0.144 + 12
3‘3‘614.. | Q.01
.y . 12 Joqyy
T 124 T
15 7
TG T E?..O@
510, f —2H |
- 5
.G T (o |
R
Z %ﬁ@u@ o
-~ “\gf m:::j"
ov| [
°F
2

Read each prbblem carefully. Show ALL work in the space provided or on a separate piece of paper.
5) A deli charges $3.45 for a pound of turkey. If Tim wants to purchase 2.4 pbunds, how much will it cost?
2 oy =

i L+ o
S o .
. 2 L ol \\ Ccost Teen 8L |

T330  Aor 1M poonds of Turke Y

s b9 00 L

$.220




6) The average mail carrier walks 4.8 kilometers in a workday. How far.'do most mail carriers walk in a 6-day
- week? There are 27 working days in July, so how far will a mail carrier walk in July?

I U2 et madl Cavners walk

%_w.,éﬁw o N Jrae K W"\f:; A Y“\Q 7 {TT)\A.CL‘ < A e
238, 537 20,00 EmS wn Joby.

7) Anna is saving $6 a week to buy a computer game that costs $57.12. How many weeks will she haveto save
to buy the gamg?

£ 77 | |
=) & N - L
i+ 12 Anna witl nave 70 Save {or
-3 10 weaks bt S Nes wﬁ-ﬁ@?h% N
Ta , il | |
- m ON “FC)V’"' YL f% Gyl «

8)Benrana 19.6-mile race last Saturday. His average speed during the race was 7 miles per hour. How long did
it take Ben to finish the race? '

3} rwg@wsﬁm:» 1+ 1ok Bere 2.2 s i
Rt ~oron Yhg YOCLs. '

M...g-(i; | (ov 2 hrs ard. ug m’ﬂ)

- 9) Antonio bought 4.5 pounds of cashews. They cost $1.4

the cashews? . _ ~
hg . e
¥ )4 Antonio patd {50 Loy

g 0 Wi Cadnbios,
5 O

o

0 per pound. How much did Antonio pay in total for -

&
oo



Mixed Numbers & Improper Fractions

Directions: Convert the following improper ﬁ‘actmons to mixed numbers. Write your answer on the
line next to each problem.

1) %—zi 6) = % 1) %Jg.ﬁ_i
2) %;xjm 7) %ﬁmﬁm 12) 2=«

3 2= .eé o Z- % |13 58= o
o 8= 5 |9 805 gy B
5) %-?*: 2 [10) %: - 15) %é;i

Directions: Convert the following improper fractions to mixed numbers. Write your answer on the
line next to each problem.

1_ _ L. 5 - A a6
1) 5*"@*-— £3 6) E?M = 11)95mmm

o ———bt; el 3.

17 13 - 1 13
2 2k= 5 | 7N3F= T |165=

g i g

13 .1 6l _ 4 _ 19
B3tz 7 |8 655= G |155= ¥

e g ) wisg )

2 _ 7 57 -
4) 35 = 219 575 w | 95 7

s "

3 . 7
2) 9T §

- ]

Wi

10)ot= ¥ |15)25F= ©




Directions: Simplify the following fractions.

4 2 2 121 3 10 2 /6 1
3] 3 |10 s |28 4 |18 3 |18 3
éiwl 16 4 7 16 _* |12 3
8 2 |20 s |14 2 |15 5 |20 s

Adding Fractions & Su.\a'\'f ﬂ.c_“‘ir\a Fe CLC.:‘". ons

Directions: Solve the following problems. NO CALCULATOR! Put your answers in simplified form.

4 10 8 1 11, 4
1.-7-+£-- 2.;+§—— 3.—6—+6—-—
12 10“_22_11 24»}”9“33““ 6 33 8M41__25
21 21 21 21 27 27"’""2;'7"; 27 8 818 “18
6 12 4 7 315 8 12
sSTRAV 55 10" Onts =
6+3m36m31 8 7 1 40+132m172m37
12 T2 2 10 10 10 55 55 55 755
10 2 11 1 3 6
7y T 8.5+ = O "
20 1W19m31 5§+3W58m128 33 30 3
6 6 6 6 30 30 30 30 55 55 55
14
15

/0




Adding Fractions Su,)d\'r" a.c,:*‘f ns H"&(‘j‘! on§

Directions: Solve the following. NO CALCULATORS!! Show all work and simplify your answer!

1 1
2 8 3"‘"‘“ ~+ %“ﬁ“ =
1+ +3+= B%
%“?ﬁé%? 31+42 73
- S R S
TR T— 4 4 4
Hanominator
- a8
¢+ 07 = =+ 04 =
235+524 759""“817 212+6 W817
42 742 42 42 20 720 20
6. :
4
23}“ S j e E— 4; w
2
2 1 19 A 8 815 8
2385 =557%3 10 710 MSTIST
= 14-
10




Directions: Solve the followmg NO CALCULATORS /! Slmply‘y your answer.

Exampfe. 5.

make ‘the. wh:ﬂa ' ‘;5“ multiply th& A
. ﬁumbera )

: : 1-_ " top humbers 2 x $ g
frac!:ltm . (numaratﬂrs} :
1. 2, 3.
2 4 X 2 X 2=
Ixg= X% 19
2 9 18
13 2 2 4 3L _4 1% 19
TX5 73 17785 7%
3 4 5 6
6 X 55= 2xw§w 1x2=
16 3 3 zxzm 1 51m1__1
175447 1 17857 E FRA-C
wag-‘wm 7 1Gx~3“w.w 8 - 4
7 16 3><§=
swx 15 13 LI
s 1.5 1 7168 § 178373 73
17777
10.
3.3 20 2_
6" 2 40°32 7"
12 3 3 12@ 21 1
2672 4 S0 213
2.6_13 5.,2_ 4
g X" 1677
14 5 5 12 61 1 15 21_1_
7782 14 16 21 1 121071~ 1
5, 4. ' 15,6 16 9, 1.7
2571 1776 g "1
15X4w4 15 @1 15 1.9)(1_“1“1
52571 5 T T 1971 1

R



Multiplying mixed numbers
Grade 5 Fractions Worksheet

Find the product.

" fxatess GREEEELTY
*2ixatss] “alxigeal

> 32x3Z=12 > 32x27=97%

" 4ixgl=sl 8 183251

% 32x32=122 % 3%x22=105

M8 xq2=23 " 2fx1L =34
ERTRELEPE. “32x11=5]

Online reading & math for K-5 @} www.kblearning.com
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Directions: Solve each of the following problems. NO CALCULATORS!! SHOW ALL WORK!

1. QOliver played 2 rounds of a trivia game and
scored 982 points. If he gained the same
number of points each round, how many
points did he score per round?

2 rounds -» 982 points
1round ~* 982 + 2 = 401

491 points per round

2. Roger has 365 baseball cards in 5 binders. If
each binder has the same number of cards,
how many cards are in each binder?

5 binders =» 365 cards
tbinder 2 865 + 5 =73

73 cards per binder

3. Chloe had 472 video games. If she placed the
games into 8 different stacks, how many
games would be in each stack?

8 stacks - 472 games
1stacks = 472 + 8 =59

50 games per stack

4. Anice machine had 480 ice cubes in it. If
you were filling up 8 ice chests and each
chest got the same number of cubes, how
many ice cubes would each chest get?

480 + 8 =60

Go ice cubes per ice chest

5. Faye is making bead necklaces. She has 606
beads and is making 2 necklaces with each
necklace using the same number of beads.
How many beads will each necklace use?

606 + 2 =303

303 beads per necklace

6. There are 545 students in a school. If the

school has 5 grades and each grade had the
same number of students, how many
students were in each grade?

5 grades ~» 545 students
t grade ~» 545 + 5 = 100

109 students per grades

¥



Multiplying Decimals

Directions: Multiply the following,

Ly CX, b

=«v‘r3 X 100 ={3() 8% 100 = 680 ?f;'% X 100 = 419.6
Yy 7

100 X 743 = 7,430 (468 X 100 = 4,680 468 X 100 = 408

9.1X100 = 910

3.28X100 & 328

b

5095 X 100 =

509.5

Directions: Multiply the following.

I
“

18 X 1,000 = 1,800 21 X 1,000 = 2,100 2,097 X 1,000 = 9,097
274 X 1,000 = 27,400 1,000 X 1081 = 10,810 | 274 X 1,000 = 27,400
Directions: Complete.
Py 1& I3
12 = 012 X 360 = 36 X e = B8 _ w0
- - 100 100
0,012 X = 36 X . = 438 w100
=036 x 1000 = 0438 o 1000




Powers of 10

Find the values of the following powers of 10 (eg. 102 = 100).

a. 10% = 1,000 f. 107 = 10,000,000

b. 10° = 100,000 g. 102=100 '

c. 10° = 1,000,000 h. 10° = 1,000,000,000
d.10*=10,000 . 10®= 100,000,000

e. 10" =10 ] 1010 = 10,000,000,000

Write the following in exponential form (eg. 100 = 102).

a. 10,000 = 10* g. 100 = 104

b. 1,000 = 10° h.1%x10=10"=10
c. 10 x 10 = 10? i. 100,000 = 108

d. 100 x 100 = 10% j.100x.10'm.103

6. 1,000,000 = 10° k. 100,000 = 105

f. 1,000 x 1;000:105 . 10,000:&10:-']05

Go to onlinemathlearning,com for more math resources.
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Convert decimals to fractions.

Grade 5 Decimals Worksheet

Convert to fractions.

" 083 == “ 04 =2

> 024 =2 | | * 096 =2

> 06=2 " 02 = %

07 =4 * 019 = >

¥ 095 =2 . %01 =4

023 =2 ‘ %068 =2

P 02=2 ' " 097 =2

094 = 2 %05 =2
Online reading & math for K-5 © www.k5learning.com
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Convert fractions to decimals'

(denominators 10 or 100)

Grade 5 Decimals Works‘heet

Convert to decimals.

1, S =06 | 2 AL =041
*3=03 - > B=036
fap=02 " 5=04

10. 1 =01 . = = 0.37
1. {J—O = 0.71 M2 gy
16 19 - 079 "= 0.91

3.

12.

15.

18.

2 =076
w0 = 07
=% = 0.54
- = 0.52
== 0.9
= =05

Online reading & math for K-5

© www.kblearning.com
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